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1.We conserve the present.

2.We promise to maintain the
freedom available to you.

3.We will change the future
environment.



The Need to Have SP-PS

Electricity cost Is one of the main expenditure of medium
and heavy industries.

Wasting energy Is depleting natural resources like coal and
any fuel.

EXxcessive usage of energy are environmentally unfriendly

And a green Mother Nature which we borrow from
our next generation......



Principle of

recovering the LOSS energy

into USABLE energy



<Reasons for Electricity Loss>

Electronic charge combine and transmit with the electric
Electricity is transmitted by electric charges and field and the magnetic fields. Electricity is organized by an

transfer. The atomic nucleus is heavier than the
electric charge like the picture below.

electromagnetic waves and electromagnetic transfer.
Electricity loss occurs when high frequency, harmonics,
low frequency, and extremely low frequency come
together. They are caused by

the oscillation of sound, noise, and heat generator.
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Electricity i1s moving from A to B. But the load cannot be

The process above shows that the electric charge received completely because high frequency, harmonics,
cannot be transmitted completely. and low frequency become other elements. This is the
main

reason for electric loss.



< Improvement System for Electricity Loss >
- SteamPro Power Saving System
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SP-PS Technology

Flow of electrons / Cable/wire
e

Input A: |__'|- |"r.-:"'|- (=% =" T e T T T S T Instnument
12kWh R N S W I (10 KWh)

« =+ Lost Electron

Based on the above diagram, the kWh consumption of the instrument (motor, chiller...) is 20kWh.
However, during the energy transmission from point = to point , there is a 2 kWh of energy losses due
to:

- Cable/wire’s electrical resistance,
- Electron’s vibration / frequency,

- Harmonics,

- Surge, and

- Voltage/Current Spike

This means the input ~ (where TNB charges the kWh usage) requires supply of 12 kWh energy to
transmit from point = to  with 2 kWh of transmission loss, and only 10 kWh out of 12 kWh is being used
to operate the instrument; the 2 kWh is a waste / loss.



SP-PS Technology

Input A:
10kwh

Flow of electrons

T e N e Y T T o A U . T e T Instnument

m UL . - - - - - - - - - - e

: e y) ) D)) D)) D)) ) =)0 (10Kwh)
Haver i —

will continuously generate and supply electrons to the transmission to replace the lost
electrons therefore improving the flows of current which resulted in reduction of the energy
transmission loss.

reduced the input electricity from utility 12kWh (Fig.1) to 10kWh (Fig.2), at the same time
maintaining the instrument’'s designed load. Furthermore, with the supply of electron from
which make up the right ratio which helps maintain at a constant level will result in the instruments
consuming the correct designed load and hence prolonging the instrument's lifespan.



SP-PS Technology

Public Utilities
Supply
e Factory
—— >
Main Incoming
A 1200kW
During the energy transmission from
point A to point BCDEF, there is
B c D E F J 200kW energy losses due to:
MSB 1 MSB 2 MSB 3 MSB 4 MSB 5 - Cable/wire’s electrical resistance,
- Electron’s vibration / frequency,
- Harmonics,
Motor Compressor Chiller ~ Air Conditioner ~ Office - Surge, and
200kW 200kW 400KW 100kW 100kW - Voltage/Current Spike
Total usage: 1000kW




SP-PS Technology

Public Utilities
Supply

Factory

—— -
Main Incoming
A 1000kW ~

will continuously generate
SP-PS | and supply electrons to the
B c D E F . transmission to rep_lace the lost
electrons therefore improving the
MSB 1 MSB 2 MSB 3 MSB 4 MSB 5 flows of current which resulted in
reduction of the energy transmission

(SRS SPPS SPPS SPPS| | SP-PS | ) los.

Motor Compressor Chiller  Air Conditioner  Office
200kwW 200kw 400kW 100kW 100kW

Total usage: 1000kW

A Simple Factory Electricity Distribution Layout



Result of earlier two layouts:

WITHOUT SP-PS:
Total Incoming load:  1,200kW

(200 KwH)

WITH SP-PS:
Total Incoming load: 1, 000kW

20%0 Savings!!!



Installation of SP-PS

WATT-HOUR

METER ( )

7 g 1. Turn off the power switch

2.Undo the R, S, T, N terminal volts
on the back of the power switch and
set the O-volt connection line of the
SP-PS.

Turn the power
off and connect , |

the SP-PS in L——“’—-—
parallel matching < v Power saver

the wires l/ ot T‘

Lighting

(Motor)
3. Turn on the power switch

Communication

Air conditioner R
Equipment

SP-PS is installed

Power Case

# Quick and easy parallel installation within 30 minutes
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2. Installation Location : Inside MDB




Network Schematic for Steam

-Power Conditioner Saving Project

Chiller
Main

Chiller 1 — 800TR
| ED

Chiller 2 — 800TR Chiller 3 — 800TR
[ L
= i : ]

—  RS485 Line
= RS232 Line

Power Met¢

Legend
Power Ling

- Data Conve

Power Sav
Device
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rlow to identify SP-PS perforrmarice

Example - Basic unit analysis

Electrical Power (kWh) Consumptiom Chart

2000

1900 IH_
1800 |
1700

1600

Total Usage In kwh

1500

No. Of Days

.
Before
installation

b fter
installation




) Bereflis and Advaritages

. Method : The world's first application of continuous supply of
Electron which works as Super Conductor.

- does not affect voltage, minimizes current load, improves
efficiency of power transmission and maximizes economy.

. Power Saving Rate: 8% - 25% based on past experiences

. R.O.l: 3to 10 months

Installation: 30 minutes max. per DB
does not affect other devices & to install by Steam team.

. Warranty: 2 years

. Safety: CE Certification. SP-PS filters Harmonic Waves, and
Neutralized the Static Electricity in addition to power savings.



Fact Conclusion:

Steam 0 Deliver sustainable energy
savings which will give your company a

vs. similar operators in
your industry who do not employ

Steam ’s system.
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THANK YOU

wWww.stea mpro.com.my

Pro- , Pro-GREEN, Pro-
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